
N21/3/ITGSX/HP3/ENG/TZ0/XX/M 

10 pages 

Markscheme 

November 2021 

Information technology 
in a global society 

Higher level 

Paper 3 



– 2 – N21/3/ITGSX/HP3/ENG/TZ0/XX/M 

© International Baccalaureate Organization 2021

All rights reserved. No part of this product may be reproduced in any form or by any 
electronic or mechanical means, including information storage and retrieval systems, 
without the prior written permission from the IB. Additionally, the license tied with this 
product prohibits use of any selected files or extracts from this product. Use by third 
parties, including but not limited to publishers, private teachers, tutoring or study services, 
preparatory schools, vendors operating curriculum mapping services or teacher resource 
digital platforms and app developers, whether fee-covered or not, is prohibited and is a 
criminal offense.

More information on how to request written permission in the form of a license can be 
obtained from https://ibo.org/become-an-ib-school/ib-publishing/licensing/applying-for-a-
license/.

© Organisation du Baccalauréat International 2021

Tous droits réservés. Aucune partie de ce produit ne peut être reproduite sous quelque 
forme ni par quelque moyen que ce soit, électronique ou mécanique, y compris des 
systèmes de stockage et de récupération d’informations, sans l’autorisation écrite 
préalable de l’IB. De plus, la licence associée à ce produit interdit toute utilisation de tout 
fichier ou extrait sélectionné dans ce produit. L’utilisation par des tiers, y compris, sans 
toutefois s’y limiter, des éditeurs, des professeurs particuliers, des services de tutorat ou 
d’aide aux études, des établissements de préparation à l’enseignement supérieur, des 
fournisseurs de services de planification des programmes d’études, des gestionnaires de 
plateformes pédagogiques en ligne, et des développeurs d’applications, moyennant 
paiement ou non, est interdite et constitue une infraction pénale.

Pour plus d’informations sur la procédure à suivre pour obtenir une autorisation écrite 
sous la forme d’une licence, rendez-vous à l’adresse https://ibo.org/become-an-ib-school/
ib-publishing/licensing/applying-for-a-license/.

© Organización del Bachillerato Internacional, 2021

Todos los derechos reservados. No se podrá reproducir ninguna parte de este producto 
de ninguna forma ni por ningún medio electrónico o mecánico, incluidos los sistemas de 
almacenamiento y recuperación de información, sin la previa autorización por escrito del 
IB. Además, la licencia vinculada a este producto prohíbe el uso de todo archivo o 
fragmento seleccionado de este producto. El uso por parte de terceros —lo que incluye, 
a título enunciativo, editoriales, profesores particulares, servicios de apoyo académico o 
ayuda para el estudio, colegios preparatorios, desarrolladores de aplicaciones y 
entidades que presten servicios de planificación curricular u ofrezcan recursos para 
docentes mediante plataformas digitales—, ya sea incluido en tasas o no, está prohibido 
y constituye un delito.

En este enlace encontrará más información sobre cómo solicitar una autorización por 
escrito en forma de licencia: https://ibo.org/become-an-ib-school/ib-publishing/licensing/
applying-for-a-license/.



– 3 – N21/3/ITGSX/HP3/ENG/TZ0/XX/M 

Critical Thinking – explanation, analysis and evaluation 

These trigger words often signal critical thinking. The bold words are the key terms in the various 
criteria. 
Explanation – Because, as a result of, due to, therefore, consequently, for example 
Analysis – Furthermore, additionally, however, but, conversely, likewise, in addition, on the other hand, 
whereas 
Evaluation ؘ– My opinion, overall, although, despite, on balance, weighing up 

Examiners should be aware that in some cases, candidates may take a different approach, which if 
appropriate should be rewarded. If in doubt, check with your Team Leader. 

If candidates answer more than the prescribed number of questions: 

• In the case of an “identify” question read all answers and mark positively up to the maximum marks.
Disregard incorrect answers.

• In the case of a “describe” question, which asks for a certain number of facts eg “describe two kinds”,
mark the first two correct answers. This could include two descriptions, one description and
one identification, or two identifications.

• In the case of an “explain” question, which asks for a specified number of explanations eg “explain
two reasons”, mark the first two correct answers. This could include two full explanations,
one explanation, one partial explanation etc.
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1. (a) Identify two reasons why parents may choose to restrict their children’s access to 
social media. [2] 

Answers may include: 

• cyber bullying

• time management (interference with studies/time with family)

• privacy

• digital footprint (reputation)

• fake news

• unsuitable/inappropriate content/stories

• unsuitable contact

• can lead to mental health issues

• addiction

• contact with potentially dangerous strangers.

• access to content unsuitable for children.

• children's safety could be threatened by hackers as well as possible
kidnapping.

 Note: Do not accept FOMO 

Award [1] for identifying each reason why parents may choose to restrict their 
children’s access to social media, up to a maximum of [2]. 

(b) Identify two reasons why Laura may have chosen to detox from using social
media in her personal life. [2] 

Answers may include:

• to save money by avoiding impulse shopping from social media
advertisements

• to reclaim time that used to be spent online and use it in the real world

• psychological – to remove the pressure to be perfect online

• psychological – to withdraw from addiction of social media

• psychological – depression/suicide

• psychological - FOMO

• reduce digital footprint

• to take back control of her digital footprint

• maintain a professional reputation.

Note: Accept other reasons that are age-appropriate for Laura. 

Award [1] for identifying each reason why Laura may have chosen to detox, up to 
a maximum of [2]. 
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2. (a) While Laura is working in Asia, she is trying to view the same online content as 
her brother Hugo. 

Explain one reason why Laura and Hugo may not have access to the same 
online content on the same social media platform. [3] 

Answers may include: 

• Technological control:
o The use of content filters on internet gateways…
o …such as content filtering on a home/school/country level.
o ...VPNs can help mitigate the problem
o Permissions may be set differently for Laura and Hugo…
o …which may lead to sites being available on one device and not on others.

• Government and country controls:
o Government policy to ban or limit access to certain social media…
o …meaning that certain sites are not available
o …reason is cultural/beliefs.

• Security:
o Permissions may be set differently for Laura and Hugo…
o …which may lead to sites being available on one device and not on others.

• Bandwidth:
o Laura may not have access to sufficient bandwidth to access a video that

Hugo is watching…
o …meaning certain videos would not be streamed effectively.

• Algorithms:
o Algorithms will create Filter bubble” based on Hugo or Laura previous online 

behaviour (search history, likes, shares and shopping habits)
o ...meaning that different content will be seen on their social media feeds.

Award [1] for identifying why Laura and Hugo have a different level of access to a 
social media platform and [1] for each development of that reason and [1] for 
linking back to the different levels of access, up to a maximum of [3]. 
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(b) Explain the relationship between bandwidth and net neutrality. [3] 

Answers may include: 

• Net neutrality is dependent on an internet service provider’s ability to provide
the infrastructure to allow the same internet coverage to all of its paying
customers.

• Net neutrality is dependent on an internet service provider’s pricing and data
plans to allow the same bandwidth to all of its paying customers.

• Net neutrality is dependent on the internet service provider’s policy to provide
equal access (bandwidth) to all web servers.

• Net neutrality is dependent on the country legislation that the internet service
provider is operating on and how this impacts their ability to provide equal
access (bandwidth) to all websites.

Bandwidth describes the maximum data transfer rate of an internet connection. It 
measures how much data can be sent over a specific connection at one time, eg 
25 mbps. 
Note to examiners: Bandwidth is not the same as Internet speed (do not accept). 

Net neutrality is the principle that internet service providers should enable access 
to all content and applications regardless of the source, and without favouring or 
blocking particular websites. 
Both net neutrality and bandwidth are controlled by the ISP. 

Award [1] for correct definition of bandwidth. 
Award [1] for correct definition of net neutrality. 
Award [1] for explaining the relationship between bandwidth and net neutrality. 

https://techterms.com/definition/datatransferrate
https://techterms.com/definition/internet
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3. Universities are requesting access to Hugo’s social media accounts. Discuss whether
this is acceptable. [8] 

Answers may include: 

Reasons why it is acceptable: 

• Allows a university admissions officer to match the suitability of students with the
university, giving them access to information to help filter a large number of
applicants to the limited places.

• The university can verify parts of the student’s application with social media posts,
eg hobbies and interests.

• Allows a student to showcase their characteristics and skills beyond their
application.

• Ensures that future students are not associated with undesirable groups/friends that
could damage the reputation of the university.

• The university has asked permission from Hugo and the person accessing the
accounts is the admissions officer. There would need to be a policy in place
regarding the privacy of Hugo’s data.

• Hugo was aware that this permission would be requested. He has realized the
importance of managing his digital footprint/wants to showcase his stories for the
school magazine.

Reasons why it is not acceptable: 

• Students may not have control over what others post on their social media accounts.

• Historical posts on social media may not truly represent the student as they are now.

• Posts are of a social nature and were not intended for the university.

• The university is not a friend.

• Allowing universities to have access may make accounts less private than the
student wishes.

• Access to social media may give access to more information than required for a
student’s application.

Note for examiners: For a ‘Proficient’ response it must explicitly relate to Hugo. 
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SL and HL paper 1 part (c) and HL paper 3 question 3 markband 

Marks Level descriptor 

No marks 
• A response with no knowledge or understanding of the

relevant ITGS issues and concepts.

• A response that includes no appropriate ITGS terminology.

Basic 
1–2 marks 

• A response with minimal knowledge and understanding of
the relevant ITGS issues and concepts.

• A response that includes minimal use of appropriate
ITGS terminology.

• A response that has no evidence of judgments and/or
conclusions.

• No reference is made to the scenario in the stimulus
material in the response.

• The response may be no more than a list.

Adequate 
3–4 marks 

• A descriptive response with limited knowledge and/or
understanding of the relevant ITGS issues and/or concepts.

• A response that includes limited use of appropriate
ITGS terminology.

• A response that has evidence of conclusions and/or
judgments that are no more than unsubstantiated
statements.  The analysis underpinning them may also be
partial or unbalanced.

• Implicit references are made to the scenario in the stimulus
material in the response.

Competent 
5–6 marks 

• A response with knowledge and understanding of the
relevant ITGS issues and/or concepts.

• A response that uses ITGS terminology appropriately
in places.

• A response that includes conclusions and/or judgments that
have limited support and are underpinned by a balanced
analysis.

• Explicit references to the scenario in the stimulus material
are made at places in the response.

Proficient 
7–8 marks 

• A response with a detailed knowledge and understanding of
the relevant ITGS issues and/or concepts.

• A response that uses ITGS terminology appropriately
throughout.

• A response that includes conclusions and/or judgments that
are well supported and underpinned by a balanced analysis.

• Explicit references are made appropriately to the scenario in
the stimulus material throughout the response.
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4. To what extent are social media companies responsible for ensuring the ethical use of
their platforms? [12] 

The response to question 4 must include evidence of independent research linked to 
the Our social media lives case study. 

Answers may include: 

Social media companies are responsible for ensuring the ethical use of their 
platforms: 

• They have control over the technical developments of the platform, which include:
o algorithms that impact the adverts users see and the news that is read
o they can develop with ethical design to promote ethical online behaviour, eg pop-

ups to prompt users to take a break
o they can develop the platform, allowing users to customize how they want to

interact with the platform.

• They have tools to monitor the use of the platform by the users, such as:
o tools to authenticate users, so there are fewer under-age users and users

misrepresenting themselves
o tools to monitor inappropriate content.
o tools for monitoring time spent on social networks. For example, on IG

• They can develop reporting tools to facilitate users reporting unethical uses of the
platform, e.g. trolling.

• They can write acceptable use policies for users to agree to.

• They are responsible for the security of the data stored on the platform.

• They are responsible for the third-party access to the platform.

• Alert/disable explicit content, e.g., sexual exploitation, pederasty, recruitment of
youth and adults for terrorist groups, among others.

Social media companies are not responsible for ensuring the ethical use of their 
platforms: 

• Even with ethical design, users can still misuse the platform.

• Users intent on unethical use will develop ways to bypass measures put in place by
the social media companies.

• More emphasis on monitoring may mean social media companies will be required to
develop more IA or employ more staff to monitor, which may not be effective.

• Social media may need to block more content, which reduces freedom of speech.

• Ultimately, users must be responsible for their own behaviour.

• Users may not read and follow policies put in place.

Notes for examiners:  

Use of Independent research and how it is applied to the mark bands 

Adequate: Implicit research for example referring to a named social media platform 

e.g., on Facebook...this may be common knowledge

Competent: Explicit research could include more detail of the workings of the platform

or details of a specific scenario in the news, beyond common knowledge

Proficient: Explicit research with details of the scenario including the source e.g. The BBC News

reported in 2020.... 
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HL paper 3 question 4 markband 

Marks Level descriptor 

No marks 
• A response with no knowledge or understanding of the relevant

ITGS issues and concepts.

• A response that includes no appropriate ITGS terminology.

Basic 
1–3 marks 

• A response with minimal knowledge and understanding of the
relevant ITGS issues and concepts.

• A response that includes minimal use of appropriate
ITGS terminology.

• A response that has no evidence of judgments, conclusions or
future strategies.

• No reference is made to the information in the case study or
independent research in the response.

• The response may be no more than a list.

Adequate 
4–6 marks 

• A descriptive response with limited knowledge and/or understanding
of the relevant ITGS issues and/or concepts.

• A response that includes limited use of appropriate
ITGS terminology.

• A response that has evidence of conclusions, judgments or future
strategies that are no more than unsubstantiated statements.
The analysis underpinning them may also be partial or unbalanced.

• Implicit references are made to the information in the case study or
independent research in the response.

Competent 
7–9 marks 

• A response with knowledge and understanding of the relevant ITGS
issues and/or concepts.

• A response that uses ITGS terminology appropriately in places.

• A response that includes conclusions and/or judgments that have
limited support and are underpinned by a balanced analysis.

• Explicit references to the information in the case study or
independent research are made at places in the response.

Proficient 
10–12 marks 

• A response with a detailed knowledge and understanding of the
relevant ITGS issues and/or concepts.

• A response that uses ITGS terminology appropriately throughout.

• A response that includes conclusions, judgments or future
strategies that are well supported and underpinned by a balanced
analysis.

• Explicit references are made appropriately to the information in the
case study and independent research throughout the response.




